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Homework 6rid Summer 1

Expected

Exceeding Expected

Greater Depth

These need to be carried out every week

Maths

English

Select 2 projects from the list below to

Week Reading at LEAST 3 times Angles do over the half term
1 Complete Spelling Sheet x X
Rule: ) E 4 N M
Complete times table sheets ey | O
Week Reading at LEAST 3 times Reading skills — word meaning THE BATTLE OF BOSWORTH
2 Complete Spelling Sheet ekl
Rule: 4!(‘ L UL 1. Draw a map of the Battle area and
Complete times table sheets ! oy label where the armies were
LD placed_
Week Reading at LEAST 3 times Problem Solving - Time
3 ;o;n?lete Spelling Sheet - - 2. Research and make a model of
ure: . .) the crown of Richard lIl.
Complete times table sheets =
Week Reading at LEAST 3 times Perfect tense/Subject verb agreement 3. Write a letter as Richard I.II asking
4 Complete Spelling Sheet : Lord Stanley to support him at the
Rule: @ battle.
Complete times table sheets ] gl
o ——— M Research the battle clothing and
- - - - weapons of a Tudor soldiergand
Week Reading at LEAST 3 times Adding, subtracting and . h
5 Complete Spelling Sheet present in your chosen way.

Rule:

Complete times table sheets

multiplying fractions

¥ A

Homework will be given out every Friday. Homework will be collected every Wednesday.




ise: Look, say, cover, write, check

Cower

Check

Wr.ite

Check

Wr.ite

Check

X

example

programme

telegram

hologram

diagram

grammar

grammatical

parallelogram

monogram

programmer

N,ow,o.p,p,b?},ali 8,o,gﬂw&w,ox,dzsm,awutzrm.

[

2.




Expected - Week |

2x6=_ Mx5=__ 10x9=__ GxG=_ 9x8=_
Fx2= 4x1=__ 9x10=__ 4x3=_ MxB=_
4x9=_ 5x3= Exd= 2x2=_ 4x10=_
BxB= 4x7=_ Mx2=__ 6x10=__ 10x3=__
Gx3= 2x12=__ 8x5=_ Mx12=__ Bx8=_
12x8=__ 4x3=__ 4x11=__ 10x12=__ 2x3=____
12x12=_ GxE=__ Sxd= Ix2=_ ExT=_
5x12=_  12x5=__ 3xT7=__ 5x10=__ 11x9=_
0x4=__ 8x2=__ TxE=_ gx2= Txd=_
M=x10=__ 1x2=__ 12x9=__ Bx11=__ 12x8=_
8x11=__ 8x10=_  B8x4=_ Ex3= ExT=_
2x8=_ 3x12=_ 3x8=_ gx1=_ Wx12=__
Tx2=_ T=12=__ 10x10=___ 10x8=__  3x4=_
Tx4= 8x2=_ 6x12=_ 9x2=_ 2x10=_
0x5=__ 2x12=__ A0x6=____ 3x1=__ 12x4=_

Exb= 12=10= 12=2= bx=3= 2x4=



Exceeding expected- Week |

1 E Calculate the missing angles in these Isosceles triangles.

a) b) c) d)

a) b) c) d)

’ 31° 68"

108° 58" :
42° i



ise: Look, say, cover, write, check

Check

Write

Check

Write

Check

example x

example

challenge

damage

broadcast

benefit

charge

function

influence

interest

object

protest

Now apply 8 of the words in a sentence.

l.

2.




121+11=__
4=11=__
24=4=_
iT=7=
JD=5=
18=2=
90=10=__
48=12=__

72=8=

15=2=
A0 = 5=
B0 = 10 =

10+5=

14+7=
80+ 8=

24+ 8=

B4 =12 =
49 =7 =

24+ 3=

fr+11=___
2M1=7T=__
2-11=___
B+d4=__
19+3=_____
20=5=__

Id+11=

22+2=

28-4=__
s0+5=__
20-10=___
6+-8=_
45+5=__
120=10=____
16-8=__

f2+9=

f2=12=__
10=10=__
120=+12=__
18=3=_
21=3=__
1M0=2=__
132+12=__

15+ 5=

Jg=3=

12=4=

64 8=

A0 =B =

90 = 9=

63+ 7=

72+6=



Exceeding expected- Week 2

Homophones 1

Fill each gap with the correct homophone.

He threw the a
great distance.

The baby would all
through the night.

My purple burst!

I could hear a
from the cage.

My, how you've

coming

The entire class would
when it was time for a test.

GLOW, N30 Im(ZhO (%

Please the cheese for
the pizza.
ITLhad a time at the party!

It was Millie’s turn to clean the fire

GreadoAGrEater

I could
waves crashing.

Come over

Can you
spooky sound?

—— .}

-
-

the sound of

right now!

that

C IO lmblEChLe

i

N

Be careful not to
your new toy.

The driver had to suddenly.

The burglar was excited to
into the huge house.

[N | o>B |

Shameemah had a blister on her

A doctor’s job is to people.

The cast will your
broken arm.




ise: Look, say, cover, write, check

Coner

Check

Write

Check

Write

Check

x

example

produce

present

reason

silence

support

transport

surprise

scratch

freeze

balance

Now .apply 7 of those w.ords in a sentence.

l.

2.




2x2=_
12x4=__
Tx10=__
Bx5=
8x10=__
10x8=
11x3=
12x4=
IxT=_
1x4=_
Tx6=_
9x5=
Ix6=_
9x4=_
4x6=_
5x8=

0x10=____
2x9=_
4x7=__
0x9=__
Ix3=
3x2=_
9xB=
6x10=_

4x2=_
Gx5=
Tx11=__
Gx5=
Gx3=
5x3=
Mx12=__
0x3=_
3x12=_
GxB=
T=x3=
Gx11=__

12=x11=
1x8=
9x10=

2x5=
Bx12=_
0x12=____
9x5=
1x6=_
1x5=_
1=10=__
Ix10=_
Bx11=_
4x9=
0x12=__
Ex12=_

8x10=
10=7=
bx10=

2x7=

Tx2=_
4x2=_
9x7=_
12x10=____
1x12=

HE=9=

Bx6=
3x1=
2x5=

12x7=_
4x5=

12x9=_
6x9=

Ix10=_
gx11=__
0x6=__



Exceeding expected - week 3

Use the Twinklville Bus Timetable to answer each question.

Twinklville Bus Timetable

Major |Twinkl| Star |Twinkl| Cloud | Twinkl| Sunny | Cloud | Twinkl| Star |Twinkl
Stops | Street | Street | City | Court | Beach |Avenue| Court | City | Street | Street
Stop

ference E F A B C D B A F E
Hus Monday to Frida

Route onday to Friday

501

(am) 9:10 9:20 9:40 9:55 | 10:05 | 10:10 | 10:25 | 10:40 | 11:00 | 11:10
501

[Pm) 12:00 | 12:10 | 12:30 | 12:45 | 12:55 | 1:00 1:15 1:30 1:50 2:00
Hus saturday to Sunda

Route aturday to Sunday

501

(am) B:30 | 8:40 | 9:00 | 9:15 | 9:25 | 9:30 | 9:45 | 10:00 | 10:20 | 10:30
501

[P"’l) 12:30 | 12:40 | 1:00 1:15 1:25 1:30 1:45 2:00 2:20 2:30
Approx 10 20 15 10 5 15 15 20 10
Travel Time| min. min. | min. min. min. rrin. min. | min. i,

Can you catch a bus at 9:10 on Sunday?

What times can you catch the bus from Twinkl Beach?

How long does it take to travel between Twinkl Beach and Sunny Avenue?

What is the earliest time you can catch a bus from Twink! Street on a Saturday?

How many destinations does the bus travel to?

If you were hopping on the bus at Ipm on a Tuesday, which stop would you be at?

If you were getting off the bus at 12:10 on a Thursday, which stop would you be at?

What bus number would you need to catch on a Wednesday morning?

What stop reference is 'F'?

How many days a week does the bus operate?




ise: Look, say, conver, write, check

Check

Write

Check

Write

Check

X

example

v

shoulder

smoulder

mould

poultry

soul

shallow

window

blown

know

thrown

Now .apply 6 .of the words in a sentence.

l.

2.




120=10=

B4=12=_
12-12=__
6=8=_
81=9=_
/=T=
P=3=_
M7=
P=5=_
45-9=
12:3=_
%=12=_
4=2=_
24-8=_
48-8=_
2:2=

T=T7=

48+6=
132=11=
48 -4 =

84+7=

42 <6 =

18+6=__
B0+ 10=_
B+12=__
80-8=_
63+9=_
9-7=__
55+ 11=_
10-2=__

50+ 5 =
12+4=

90 - 9 =

2:2=_
18=3=_
20-10=__
PBa11=_

W+4=_
6=
/5=
110=10=__
P+4=
P=10=_
88+8=_
24:2=_

W/=12=_
72:6=_
50+10=_
132=12=
M=11=_
A0+5=_
P-8=_
14+7=_
120=12=

99+ 9=
96+ 8=

64+8=

IG=4=

0-10=__
12:2=_
60<12=
0+2=_
28-7=_
6/-9=
2:-11=_
90=+10=_
54-9=_
/6=
56-8=
5:5=
121=11=__
63=7=_
0+10=__
a4=11=__



Exceeding expected - week 4

1. Which sentence below has been written in the past tense? Tick one.

This is the oldest car in the street,
The car’s engine dates back to 1970.

The wheels were changed in 2014.

UL

The mechanic wants to change the seats.

2. Tick to show which sentence uses the present pen:fect Tick one.
She went to the shops.

She was going to the shops.

Ut

She has gone to the shups.



3. Rewrite the sentence below in the simple past. Remember to use full punctuation.

He has walked through the woods.

4. Underline the verb form that is the present perfect in the passage below.

Annie enjoys climbing trees in her garden and has made a swing that dangles from one
of the branches, with the help of her mum. She was crossing her fingers that there would
be time to start making a real tree house, but the weekend disappeared. Annie was so
pleased to have an adult to tie the knots.

5. Write a sentence in the present perfect below.




ise: Look, say, cover, write, check

Check

Write

Check

Write

Check

X

£x

v

possible

horrible

terrible

visible

incredible

sensible

forcible

legible

responsible

reversible

Now write the words in o sentence.




h=g=

§x5=
6x6=
Tx2=

1=11=

hxp=

1=b=
f=8=
3=xb=

8=10=

1=7=

9=b=

3= 1=

I3xb=

5x3=
Mx12=__
4x11=__
Tx12=__
6x12=_
1x8=_

9x8=
5x 7=

4x2=

9x11=__
8x1=_
0x1=____
0x12=___
9x5=_

4x6=__
12x8=_
9x10=__
0x11=____
Mx6=_

hxbh=

4=9=

Ix3=_
9x11=__
8x12=_
ExB=_
0x2=__
4x8=_
0x7=__
9xd=_
Mx10=___

12= 5=

§x7=

1M=3=
6x10=
1=10=

1=9=

bx=d4d=

b=12=
10=x7=
4x7=

Gx7=
Txd=
Ix =
fx3=

4x=12=
2x=10=

10x8=__
0x3=__
12x10=___
3x9=_
1Mx3=_
6x1=_
Tx11=___
9x3=_

gx 4=
3x6=

TxT=

12x2=
gx9=_

10x6=__
gx10=__
12x4=_



Exceeding expected - week 5

1. Henry ate 3 of a bar of chocolate. Sally ate 7 of it. How much did
they eat in total?

2. Freddie swam : laps yesterday and ; today. How many laps did he
swim in total?

3. Simon bought a box of biscuits that weighed 13 kg. Anna bought a
box of biscuits that weighed 17 kg. How much did the two boxes
weigh in total?




Solve these subtraction word problems.

5. Tom ate  of his chocolate bar. His sister, Jade, ate 3 of hers. How
much more did Tom eat than Jade?

6. A postman delivered two boxes. The first weighed 7 kg and the second
weighed 3 kg. How much lighter was the second box than the first?

7. Matthew grew a sunflower that was 1 % metres tall. She cut ; metres off
the height. How much of the stem is left?




